ghu] FTAZE A SA1272 AZSE FU0 359 Aol Ao 53R, FEAI 2

sjejel, oFAALY TH5HelY, Y Arlo] 50919 5 ZAHEOE Al ATt oF 120
ol S Aol B4 Aol wEPTE

= 437, BT, H1r], G, AaEe] B Ml e QAL Zhd 291 20912

A9, HA, Af AABE BIPHA HZo] £ B2 309

4 E 7]ﬂ1— 27 8 A7t 2T 9l

H% Aﬂﬂ Mmfﬂ Haz) ¢

) Abd o] Rl 9FSE 7HASHE
4.6~12.T%(Bd 8.7%), At T4 2 3~6.2%(%‘% 4.2%), AN 24 149960 ~543
ol (HF 3Hel Aoz 2}
PR 7)o ALw Batell A7 AR EE $U7MEL 18~20% stErstA Har, olF 7t
Aslro] Z AR 71ABIE 4.4~5. 3%(BTF 4.8%), AA A 1.4~1.6%(BH 1.5%), 3
Arl Zha 9Z o)~ oA 5 A U (FH o 2 3WA ) e 2 FH YT
7] dA| A7 BEEHE SU7EL 17.7% stEs A Ha, U SR = Al
ol 7tAse 7.3~12.5%(Fd 9.9%), BAA 2.3~4.0%(FB 3.2%), FFH Ha
9.5~16.0%(9N A1 HsM A2 HF 12.8%2 112 ¢ o2 m3|& o4t
FFHEGE BA7F Ao Qs i HEEE FAVE7HEE 26.5% ShHEFSkAL,
A 7|0 st uEt o WP“*-O— oF 5.0% ZFAsta, AAtle 6u 903 gjo| ZFAT A
o2 2Rt & YGPAF FAZS 9 5~7 5% 71ASHH Al TFhE 4We0Y ~TH
50999 =0 E Ao dAFF
] A1Yde ® By v|Fo] B2 EE £9E 1Y v, 29 15, 39 T, 491
A, 59 W, 69 A& o2 AW, G7HEES 199, ' 239, AAES 3092 =&

48 | g3l&2



o I
+ " @QW iy
tg BEE L -
= o2%F T SR T E
3 oy o e B R X
GG F o go o] % o ﬂ@h%
S o ewm T e
D mER o N
i __ i Lo i 1|I1r
ZH Mo i ° gy oF g & zTW s
A . PypybTe S H 2 3
Fopl ®DUZ £} %_Ooﬁa%7%oﬂﬂ .
= MR THT ,%%m%,ﬂ;@ﬂﬁr ©
L o ﬂo%E =) ﬂL_LWW_nﬂulMﬂuﬂE S
Bewx <& ol il Emﬂa&.@n S
mEX B X ) TN _
- x g BT w R
) EREC U] N
o E._ wﬁlxﬂno ...IUM_OH;OD‘A..ILO_EUHO_/,&L
0 - X o ‘.._A|7..uﬂ11um._u‘m_ux,lu1r
X o A nArLOtEH_ un MH.WNL._QAJ._.HL_I_EAB
,atﬂud.%,ua} B ! FR o T
Ty B x ¥ iy m,u'ﬂm.,_ﬂﬂjl
oho..;oog_xr E._m_lx,_ = ﬂoa_EFm¥ﬂme7
= ﬂ_ﬁ' O"H e O_ﬂ.l ! L._O]HNUL o > ~ Z_l
x Ot %l — U.X Mﬂ oM e T l =} NM ,Ul _—
momﬂpézpax o TR R B G
910%04_.,10#@_@. W ﬂuw.uM__owc;ﬁ] R
E_.._ L.T.UI o ‘,WWM w.WE NO N ! ™ fr, . O_E — 3 O#E = o
G P oF N G-
eI = o X ﬂszﬁ_ﬁuo# o
3 %%uoob o 7% = T o % oy
N | © 5 - i
) RN S E N A
%am_uzﬂm@ﬂof},;_; R R ;
= © 1 B o= o
.%ﬂ,aﬁ_%ﬁgkmo__ < U
?i;m@_.;o Ci
ﬁJ_LA 2T FE z
BE T T w o B fir p
e ,]QQﬂo_xL} o ok
O_E ﬂonmr_&._- 17 = =
on B ._leﬂn_x,u_l.xq <
%QMMm7OTQHW%._ﬁ il
Onﬁm‘xﬂr_ i~ SN
_azaurmmae:w mlw

|2 |49

3

3
=



